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QUESTION 1 [15]

1.1 Indicate whether each of the following variables is quantitative or qualitative,
and identify the appropriate scale of measurement:

1.1.1 age of a respondent to a consumer survey (2
1.1.2 gender of a respondent to a consumer survey (2
1.1.3 class rank of people taking an exam (2
1.1.4 make of a motorcar owned by a sample of 50 drivers (2
1.1.5 the number of participants entered for a race (2

1.2) For each of the following random variables, indicate the data type discrete or
continuous

1.2.1) The weight of a new born baby (1)
1.2.2) The number of stones in a basket (1)
1.2.3) The distance | walk to campus. (1)
1.2.4) The number of assignments submitted by mail (1)
1.2.5) The height on a building @)

QUESTION 2 [30]

The data below shows heights (in meters) for a random sample of 7 buildings in the
CBD of Windhoek
88, V2, 23, 56, 62, 94, 48
Use the data provided to calculate and interpret the following:
2.1) The mean, median and modal height (4+4+2=10)

2.2) The first and the third quartile of the heights (2x5=10)

2.3) The standard deviation and the coefficient of variation in heights (6+4=10)



UESTION 3 [25]

3.1) Suppose that the following contingency table was set up:

Cc D

A 10 30

B 25 35

What is the probability of:

3.1.1) Event A )
3.1.2) EventAand C (2)
3.1.3) EventAand B (2)
3.1.4) EventBorD (3)
3.1.5) EventC or D (3)

3.2) A local ambulance service handles 0 to 5 service calls on any given day. The
probability distribution for the number of service calls is as follows

Number of service calls Probability

0 0.10

1 0.15

2 0.30

3 0.20

4 0.15

5 0.10
3.2.1) What is the expected number of service calls? 4)
3.2.1) What is the variation in the number of service calls? (6)
3.2.2) What is the standard deviation? (3)

QUESTION 4 [20]

4.1) Past records from the Office of the Bursar at the Polytechnic of Namibia shows
that 10% of students pay the full course fees at registration. Recently, an
accounting clerk inspected the accounts of 12 students. By using the
probability mass function of the binomial distribution:




4.1.1) What is the probability that none of these students paid the full course fees at
registration? (3)
4.1.2 What is the probability that at least two of these students paid the full course
fees at registration? (7)

4.2) Pulse rates of adult men are approximately normally distributed with a mean
of 70 and a standard deviation of 8. What proportion of men have a pulse rate

(4)
(6)

4.2.1) Greater than 767

4.2.2) Between 64 and 767
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'APPENDIX C:

The Standard Normal Distribution
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